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The following table shows the number of items sold by five persons A-E on five different days
(Monday through Friday). Some data is missing in the table that you are expected to calculate, if
required. Based on the data in the table, answer the questions that follow:

Persons

A B IC D [E
Monday (840 (880 [480 | |560)
Tuesday (720 | (1040420 [820)
Wednesday(560 480 (820 [830 |
Thursday (1080110201 11260320}
Friday [ (920 {700 |1020:800)

Dav

Sub questions

Question Number : 1 Question Id : 34212315300 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the total numbers of items sold by A and B on all the five days 15 4000, and 4400, respectively,
then the number of items sold by B on Tuesday is % more than the number of items
sold by A on Friday.

| B ks
2.235
3.32.23

4.42.5
Options :
1.1
2.2
3.3
4.4

Question Number : 2 Question Id : 34212315301 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



If the ratio of the number of items sold by B and C together on Thursday to the number of items
sold by C and E together on the same day is 2 : 1, then the number of items sold by C on
Thursday is:

1. 300
2.420
3. 330

4.340

Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 34212315302 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the total number of items sold by A on all the five days is 3600, then the difference between the
mumber of items sold by A on Monday and Friday is:

1. 640
2.450
3.420
4. 440

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 34212315303 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



If the average number of items sold by D on Monday and Tuesday is 490, then the number of
items sold by E on Friday is % more than the number of items sold by D on Monday.

1.39.76
2.42.36
3.48.23
4.45

Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 34212315304 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the number of items sold by C on Thursday is the average of the number of items sold by C on
Wednesday and Friday, then the total number of items sold by C on all the five days is:

L. 3500
2.3800
3. 3400

4. 3700

Options :
1.1
2.2
3.3
4.4

Question Id : 34212315299 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (1 to 5)

Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 34212315300 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e A 3R B ZR1G Ut 161 o oelt 72 gl 1 et S ShARE: 4000 3R 4400 8,
mma%ﬁBmé%ﬂﬂﬁaﬂaﬁaﬁﬁ@wwuﬁAau@zﬂﬂéaﬁaﬁ@ 0
D gl

1843

22535
33273

4.42.5

Options :
1.1
2.2
3.3
4.4

Question Number : 2 Question Id : 34212315301 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.300
2.420
3.380

4. 340
Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 34212315302 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 640

2.450

3.420

4.440
Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 34212315303 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.39.76
2.42.36
3.48.23

4.45
Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 34212315304 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 3500
2. 3800
3. 3400

4.3700

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 342123601
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 34212315305 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
(ICT/Tools) (Functions)
A |Padlet I. | Criteria-based assessment and feedback
B. |Rubrics II. | Collaborative digital bulletin board
C. | Quizlet III. | Feal time audience repsonse and polling
D. | Mentuneter IV. | Interactive Flashcards and Study sets

Choose the correct answer from the options given below:
1. A-IIT, B-IV. C-II, D-I
2. A-11, B-1, C-1V, D-IIT
3. A-IV. B-II, C-II, D-I

4. A-1, B-IV, C-III. D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 6 Question Id : 34212315305 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-IIT, B-IV. C-II, D-I

[

. A-IL, B-1, C-IV, D-III

L]

. A-1V, B-III, C-1I, D-1

4. A-1. B-1V, C-III, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 34212315306 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A teacher assigns a video lecture for students to watch at home before coming to class. Next day
in the class she engages sttudents in “hands-on’ experimental activities. Which approach she vsed
in this situation?

. Problem solving

2. Collaborative learning
3. Flipped classroom

4. Personalized learning

Options :
1.1
2.2



3.3
4.4

Question Number : 7 Question Id : 34212315306 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 34212315307 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A way of dealing with conflict in which people express their feelings, ask for what they want, say
‘00" to things they don't want, and act in their own best interests, is known as-

L. Aggressive style
2. Passive style
3. Assertive style

4, Manipulative style

Options:
1.1
2.2
3.3
4.4



Question Number : 8 Question Id : 34212315307 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 34212315308 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The transfer of learning from one situation to another situation that is conscious and effortful is
known as -

1. Near transfer
2. High-road transfer
3. Low-road transfer

4. Far transfer

Options :
1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 34212315308 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 34212315309 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The belief that one can master a situation and produce positive outcomes is known as-

. self-efficacy

2. self-esteem

3. self-actualization
4. self-regulation

Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 34212315309 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 34212315310 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

*Code numbers given to the religion of persons’ is an example of data on which of the following
scales of measurement?

. nominal
2. ordinal
3. interval
4. ratio

Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 34212315310 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 34212315311 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The criterion of *dependendability” in qualitative research parallels which of the following criteria
in quantitative research?

. Objectivity

2. Internal validity
3. external validity
4. reliability

Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 34212315311 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2

3.3
4.4

Question Number : 13 Question Id : 34212315312 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct statement about the quantitative content analysis:

1. It can allow a certain amount of longitudinal analysis

(i)

. It 1s an obtrusive method
3. It is a very rigid method

4. It is a reactive method
Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 34212315312 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ETRS [d9gd%d A9 & R H gl HUH &1 GgdH Sifou|
1. 390 3ce fa=eiyu & $& 9E1 $i 34fd & Sl g
2. g Udh i1 = arell fafer g
3. U8 U s 3w fafu g
4. U8 Ud Ufdfbarers fafa g

Options :
1.1
2.2
3.3
4.4

Question Number : 14 Question Id : 34212315313 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The geometric mean of the number 9, 12 and 16 is:

1. 12.33

b3

. 11.66
312

4. 12.66
Options :
1.1
2.2
3.3
4.4

Question Number : 14 Question Id : 34212315313 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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4. 12.66

Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 34212315314 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Suppose Hy = Null Hypothesis, H, = Alternate Hypothesis, u = population mean, Hy, =
hypothesized mean. A researcher sets up Hy : u= iy, and Hy : p < iy, In this sitvation, the
researcher would apply

L. right-tailed test
2. left -tailed test
3. two-tailed test

4, half-tailed test

Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 34212315314 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 34212315315 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Western Society considers communication as an instrument of-

1. Aggression

b3

. Separation

(]

. Covert operations
4. Human relationship

Options:
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 34212315315 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 34212315316 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The context in which communication takes place is termed as -

1. Hostorical background

b3

. Objectification
3. Environment
4. Mediasphere

Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 34212315316 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 34212315317 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In non-verbal communication, a symbol representing an object is known as -

1. Identify symbol

2. Explanatory symbol
3. Animated symbol
4. concrete symbol

Options :
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 34212315317 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 19 Question Id : 34212315318 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Communication is continuously

1. Evolving

b3

. negative

(]

. stagnant

4. subliminal
Options :
1.1
2.2
3.3
4.4

Question Number : 19 Question Id : 34212315318 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 20 Question Id : 34212315319 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII
(Communication noise) {Description)
A |Semantic [ |Exusts outside of the receiver
B. |Physical II. |communicator's prejudices and biases towards another person
C. |Psychological III. | The biological influence on the communication process
D. |Physiological IV. |Linguistic influence on message reception

Choose the correct answer from the options given below:
1. A-IL, B-III, C-IV, D-I
2. AL B-IV. C-1, D-II
3. A-IV, B-L, C-II, D-III

4. A-L B-II, C-III, D-IV

Options :
1.1
2.2
3.3
4.4



Question Number : 20 Question Id : 34212315319 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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- A-IIL B-IV, C-1, D-II
3. A-IV, B-1, C-11, D-III

4. A-L, B-II C-1IL, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 34212315320 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A school boy, travelling at 3 km/hr, reaches his school 28 minutes late but when he travels at 5
km/hr, he reachers his school 28 minutes early. What distance does he travel every day to reach
the school?

1.6 km
2.8 km
3. Tkm

4.9 km

Options :



1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 34212315320 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 34212315321 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

There are three positive numbers. One third of the average of all the three numbers is § less than
the value of the highest number. If the average of the lowest and the second lowest number is 8,
then what is the highest number?

1.9

[

10
3.11

4.12

Options :
1.1
2.2



3.3
4.4

Question Number : 22 Question Id : 34212315321 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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19
2.10
3.11

4. 12
Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 34212315322 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In a school, there were 1582 students and the ratio of the number of the boys and girls was 4 : 3.
After few days, 30 girls joined the school but few boys left the school and as a result, the ratio of
the boys and girls became 7 : 6. The number of boys who left the school is?

1. 84

3.86

4.78
Options :
1.1
2.2
3.3
4.4



Question Number : 23 Question Id : 34212315322 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 84

2.74
3.86
4.78

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 34212315323 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What will be the value of P in the following number series?
6. 3,26, 205, B ccpmnensansmisinsn

1. 624

[

513
3.1023

4.3124

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 34212315323 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 25 Question Id : 34212315324 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A certain sum of money becomes 28800 in 2 years at 20% per annum of compound interest
(Compounded annually). The sum of money is:

1. 324000
2.322000
3.321000

4.320000

Options :
1.1
2.2
3.3
4.4

Question Number : 25 Question Id : 34212315324 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.324000
2.322000
3.321000

4.320000
Options :
1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 34212315325 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following terms in order of increading abstractness:

A. Alloy
B. Metal
C. Steel
D. Mineral

Choose the correct answer from the options given below:

LGB, BUA

(o

Coa B D

(5]

CA DB

4.D,B. A, C

Options :
1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 34212315325 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.C,B,D,A

[-2

.C.A.B.D

L

CyA, DB
4.D,B, A, C

Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 34212315326 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true regarding the word *God’?

A. It is meaningless

B. it 1s meaningful

C. The word God has no intension that could be its meaning.

D. In case of word “God’, there is an intension that is its meaning.

Choose the correct answer from the options given below:
1. B and D only
2. Aand C only
3. Aonly

4. B only

Options :
1.1



2.2
3.3
4.4

Question Number : 27 Question Id : 34212315326 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 28 Question Id : 34212315327 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“A line 1s composed of points. Points have no length. Therefore a line has no length.” Which
informal fallacy i1s committed in this statement?

L. Fallacy of composition
2. Equivocation
3. Hasty generalisation

4. Slippery slope



Options :
1.1
2.2
3.3
4.4

Question Number : 28 Question Id : 34212315327 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 34212315328 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statement is logically equivalent to the statement - *“No liquids are
beverages.”?

L. All non-bevarages are non-liquids
2. All liquids are non-beverages.
3. Some beverages are not liquids

4. No beverages are liquids.

Options :
1.1



2.2
3.3
4.4

Question Number : 29 Question Id : 34212315328 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 34212315329 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Classical Indian School of Logic (Nyaya) the argument - “Sound is eternal because
it 1s produced” Is fallacious because:

L. The middle term instead of being pervaded by the presence of major term is pervaded by its
absence.

2. The locus of the middle term is impossible.

3. The middle term instead of being pervaded by the absence of major term is pervaded by its
presence.

4. Tt lacks any major term.

Options :
1.1
2.2
3.3



4.4

Question Number : 30 Question Id : 34212315329 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 34212315330 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A security system used a camera to capture images of each person entering a gift shop. Each
image taken requires 1 MB of storage. If the camera captures an image every 3 seconds over a
24-hour of period, how much storage is required?

1.16.875GB
2.15.250 GB
3.12.525GB

4.19.625 GB
Options :
1.1
2.2
3.3
4.4



Question Number : 31 Question Id : 34212315330 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 16.875 GB

2.15.250 GB
3.12.525GB
4.19.625 GB

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 34212315331 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

With reference to different number systems, which of the following statements is true?

L. (109)0 = (1101001),

2. (123)s = (212),

3. (101)16 + (110)g = (429)¢
4. (241)6=(131)g

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 34212315331 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. (109)10=(1101001),
2. (123)5 = (212),
3.(101 Yig T {110}5 o {429]1{3

4.(241)6=(131)g

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 34212315332 Question Type : MCQ Option Shuffling
Correct Marks : 2 Wrong Marks : 0

In the context of Bluetooth and Wi-Fi as wireless communication technologies, which of the
following statements are true?

A. Bluetooth allows for short-range data transfer between electronic devices, whereas Wi-Fi
allows electronic devices to connect to the Internet.

B. Bluetooth needs a direct line of sight for data transmission, whereas Wi-Fi does not need it.

C. Bluetooth limits the number of devices that can connect at any one time, whereas Wi-Fi is
open to more devices and more users.

D. Bluetooth does not need a direct line of sight for data transmission, where as Wi-Fi does
need it.

Choose the correct answer from the options given below:
I. Aand B only
2.Band C only
3.A,Cand D only

4. Aand C only

Options :
1.1
2.2
3.3

:No



4.4

Question Number : 33 Question Id : 34212315332 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 34212315333 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In computers, which of the following statements is true?

1. Data matrix printer is a type of non-impact printer
2. laser printer is a type of impact printer
3. The resolution of a laser printer is measured in Megabits per second (Mbps)

4. Data matrix printers are noisy, low quality and slow in comparison to laser printers

Options :
1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 34212315333 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Question Number : 35 Question Id : 34212315334 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following statements about spreadsheet software (MS-EXCEL) are true?

A. Data in spreadsheets are always correct.

B. Spreadsheet software cannot draw bar graphs.

C. Spread sheet software automatically recalculates.

D. Some cells in a spreadsheet can be locked to prevent a user changing its contents.

Choose the correct answer from the options given below:

I. Aand B only
2. C and D only
3. Aand C only

4. B and D only

Options :
1.1
2.2
3.3
4.4

Question Number : 35 Question Id : 34212315334 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :




1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 34212315335 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is correct chronological order of earliest to latest of different acts
according to their year of enactment in India?

1. The Environment Protection Act, Air (Prevention and Control of Pollution) Act, Water
(Prevention and Control of Pollution) Act

2. Air (Prevention and Control of Pollution) Act, The Environment Protection Act, Water
(Prevention and Control of Pollution) Act

3. Water (Prevention and Control of Pollution) Act, The Environment Protection Act, Air
(Prevention and Control of Pollution) Act

4, Water (Prevention and Control of Pollution) Act, Air (Prevention and Control of Pollution)
Act, The Environment Protection Act,

Options :
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 34212315335 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



YR H fafir Sl o SHfeHm & 9t o SUR Td U AW b DIEHE1
DIhIHD HH G2

1. Q1RO TR&T ST, T (FEHUT T R SR g00) Sifefam, Sief (e &1
AR 3R fom) aiféffram

2. AR (TG T faRT R 0T AT, e SRer ST, STl (Sl I
TR 3R fo) affeffam

3. STCt (Y1 T (AR 3R a0 e, waiaRo SReo g, 9 (e &1
FTaROT 3R fo) i

4, STl (TG0 T faRT 3R fogron) SHfelfam, arg (orgwon 1 FaRor 3R fegm)
31T, TRl GR&0T ST

Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 34212315336 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Benefits of biodiesel over pertodiesel are;

A. Biodiesel contains virtually no sulfur

B. Biodiesel emits substantially lower carbon monoxide (CO)

C. Biodiesel is a better lubricant than petrodiesel.

D. Biodiesel emits significantly lower Oxides of Nitrogen Oxides (NOy) than petrodiesel.

E. Particulate emission by biodiesel is much lower that that of petrodiesel.

Choose the correct answer from the options given below:

I.A,B,C,Donly
2.B,C, D, E only
3.A,B,C,Eonly

4.A,B.D.E only

Options :
1.1



2.2
3.3
4.4

Question Number : 37 Question Id : 34212315336 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 34212315337 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following came as alternatives to chlorofluorocarbons (CFCs) as refrigerants?

A. Hydrofluorocarbons
B. Perfluorocarbons

C. Hydrochlorofluorocarbons
D. Halons

Choose the correct answer from the options given below:

[.A,Band Conly
2.B, Cand D only
3.Band D only

4. Aand C only

Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 34212315337 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :



1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 34212315338 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is true about over fertile lake?

—

. Nitrate level decreases

[

. Depletion in algal productivity
3. Oxygen level increases
4. Quality of fishes produced is impaired.

Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 34212315338 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
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Question Number : 40 Question Id : 34212315339 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Temporary hardness in water is also known as:

—a

. Sulphate hardness

(i)

. Nitrate hardness

(el

. Chloride hardness

4. Carbonate hardness
Options :
1.1
2.2
3.3
4.4

Question Number : 40 Question Id : 34212315339 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 34212315340 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Under the Universities Act of 1904, universities were given the authority to recognise:

L. School boards

2. Literacy missions
3. Elementary schools
4. Secondary schools

Options :
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 34212315340 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fayfaeer SHfeifam 1904 & el fawfaeeral & Fgfeiad # 9 ot A1l UaH & 1
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Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 34212315341 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



One of the subjects taught at ancient Nalanda University was:

. Astronomy

(i)

. Chemistry

(el

. Metaphysics

4. Mathematics
Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 34212315341 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

[

Question Number : 43 Question Id : 34212315342 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What was National Knowledge Commission's recommendations for minimum gross entrolment
ratio to be achieved in higher education by 20157

1. 5 percent
2. 10 percent
3. 135 percent

4. 20 percent

Options :
1.1
2.2
3.3
4.4

Question Number : 43 Question Id : 34212315342 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 44 Question Id : 34212315343 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are the functions of Indian Council of Social Science Research?

A. Encourage delinking of social sciences from natural sciences
B. Provide scholarship for research in social sciences.

C. Give financial support to institutional journals of research.
D. Promote social science research.

E. Blacklist non-performing social science institutions from time to time.
Choose the correct answer from the options given below:

I. A, Band C only

2.B.C and D only

3.C.Dand E only

4. A, D and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 44 Question Id : 34212315343 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 34212315344 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The period between 1200 and 1764 AD was remarkable in India for the highest distinction
attained by:

L. Popular literature
2. Vernacular literature
3. English literature

4. French literature

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 34212315344 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
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Question Id : 34212315345 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

Read the following passage carefully and answer the questions:

Until recently, little was known for certain about how the brain changes as children age and grow.
Considerable progress is being made in charting developmental changes in the brain, although
much 1s still unknown.

The number and size of the brain’s nerve endings continue to grow at least until adolescence.
Some of the brain’s increase in size also Is due to myelination, a process in which many cells of
the brain and nervous system are covered with an insulating layer of fat cells. This increases the
speed at which information travels through the nervous system. Myelination in the areas of the
brain related to hand-eye co-ordination is not complete until about four years of age. Myelination
in brain areas that are important in focusing attention is not complete until the end of the
elementary school vears. The implications for teaching are that the children will have more
difficulty focusing their attention and maintaining it for very long in early childhood but their
attention will improve as they move through the elementary school years. Even in elementary
school and later, many educators believe occasional short breaks sustain children's energy and
motivation to learn.

Another important aspect of the brain’s development at the cellular level is the dramatic increase
in connections between neurons (nerve cells).

Synapses are tiny gaps between neurons where connections between neurons are made.
Researchers have discovered an interesting aspect of synaptic connections. Nearly twice as many
of these connections are made than ever will be used.

The connections that are used become strengthened and will survive, while the unused ones will
be replaced by other pathways or disappear.

Sub questions

Question Number : 46 Question Id : 34212315346 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The number and size of the brain's nerve endings continue to grow till:

1. Elementaty school vears

[-2

. Early childhood

LS

. Adulthood

4. Adolescence
Options :
1.1
2.2
3.3
4.4

Question Number : 47 Question Id : 34212315347 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following facts about Myclination are correct?

A. Tt increases the speed at which information trevels through the nervous system.
B. It is responsible for increase in size of the brain.

C. It i1s completed in all areas of the brain by age four.

D. Knowledge about it dies not benefit us in any way.

Choose the correct answer from the options given below:

l. Cand D only
2.B, Cand D only
3. Aand B only

4.A.CandD only

Options:
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 34212315348 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following facts regarding synaptic connections are correct?

A. Connections that are used are weakened.

B. Twice as many connections are made than ever will be used.

C. Unused connections either disappear or are replaced by other pathways.
D. Connections that are used perish.

Choose the correct answer from the options given below:

1. A, B and D only
2. B and C only
3. Aand D only

4.B. C and D only

Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 34212315349 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As children grow their attention span focus

1. Remains static

(i)

. Improves

LS

. Declines msignficantly
4. Declines significantly

Options :
1.1
2.2
3.3
4.4

Question Number : 50 Question Id : 34212315350 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Synapses are considered as:

1. Timely gaps between neurons where connections between neurons are made,
2. An element responsible for blood circulation in the brain

3. Large gaps between neurons where connections between neurons are made
4. One and only particle of the brain related to hand-eye-coordination.

Options :
1.1
2.2
3.3
4.4

Question Id : 34212315345 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 34212315346 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TGS o1 i1 & R &1 S a1 iR 4 7Y AR § $d dd i gldl g
1. ST faeer & avf dob

2. 3RIHS IR dD

3. 99%pdl dd
4. foURGRI dd

Options :
1.1



2.2
3.3
4.4

Question Number : 47 Question Id : 34212315347 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 34212315348 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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| hai A, B 3R D
2. HadB R C
3. B9d A HRD

4. HddA B, C AR D

Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 34212315349 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
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Question Number : 50 Question Id : 34212315350 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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L. AGPIABIA P Bl IR, STel WgPIRP1A & ¥ Yy =g W & |
2. A% H ¥ad YaR & foly U FeRamdl dd
3. ADINDISH B did 99 3R, T WD & s Heley TS STl § |

4. BI--A-TH-90 Y YelSId AR B UHHT Bl

Options :

1.1

2.2

3.3

4.4

Telugu

Section Id : 342123203
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 342123603
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 34212315351 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SETEE o T 508°558° HE% ey
1. mﬁq)éﬁ

3, ;%moﬁ & ﬁmgg

3. &S £,

4. oE.D0.5°00

m;r:éa

)
=



Options :
1.1
2.2
3.3
4.4

Question Number : 51 Question Id : 34212315351 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SETEE I ah, VFEIS HEH o @
1. m@csas

A a%moé & ma:;gg

3. &0 £Ry

4. oE.20.5°00

m;r:ﬁo

)
=

Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 34212315352 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

5o e0 D HIBS Gottdo HBE IEBero
2. 3B6% 3,98,

3. 38 33)8,

4. BOJE. 3D

H

Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 34212315352 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ST O JH)BS @okero IBG IEBeso

Question Number : 53 Question Id : 34212315353 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[k
@@ﬁ&am o)
1. &, &%, 2,5,
2. 3,88, o,
3. ©,e8, 3,58
4. D588
Options :
1.1
2.2

3.3
4.4

Question Number : 53 Question Id : 34212315353 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OTPSRND) D
1. @, &8, 2,8
P, B DD
3. 9,03, 3,58
A N
Options :

1.1
2.2



3.3
4.4

Question Number : 54 Question Id : 34212315354 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

%R FBo” DI VBYBASTE
1. 8320508,

2. Hoen

3. 0DBOHDY

4. &) GO,

Options :

1.1

2.2

3.3
4.4

Question Number : 54 Question Id : 34212315354 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

630 FBo” DI DEYBASTE
1. Be@DOSNY

2. Hoen

3. 20200058y

4. @) OO,

Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 34212315355 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ol A P DG HBEEH 3N rare
SMATASLRE JRR AL el

23.&:;’15“;’1333‘-‘556 O~ %)

2.0¢5) 33°¢ ST°D)

4. B.D.300°=D

Options :

1.1

2.2

3.3
4.4

8,

L
>

w N0

Question Number : 55 Question Id : 34212315355 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tods g p 0GB JBFEH IS ey D,
1 DAPTAB  Peody

2. 2EITTHE O°Y)

3. .08 PGIT°Y)

4. B.9.5000°BD

Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 34212315356 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

:}5@65 §,05° Sordren 8 guIE A
1. So0w

2. 896505

3. S

4. Sk

Options:



1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 34212315356 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

;’)5@55 §,05° Soeadren 8 oG A
1. 2oow

2. 598509

3. So7d

4. Sk

Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 34212315357 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

20 @AGSD ‘@B’ FPo IE HHr0S0 Tod
DBYES oS0

1. @98
2. J°CD
3. ¢

4. 98

Options :
1.1
2.2
3.3
4.4



Question Number : 57 Question Id : 34212315357 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e @IS ‘@SS’ Fo I8 HSras0 Fod
DBYES 570

1. e5¢0
2. 76
3, 268D

4. QB

Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 34212315358 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TE)H0 SRS FB8S I8 eIT o) ST
FoBHnS &I o8 VST

1.  3%0 ordrrory)

2 ?2.;:5.6%

3. adoeer D"Q“ép)ﬁm
4

Sorel :13?’.?5;’3@“3%

Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 34212315358 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



332:&5&050 o30Kest &8l éﬁﬁeg ﬁ“ﬁﬂ”@% 3803

FoB0yS"  &TNO%R dopdes IIT8

1. 358 o°drory)

2. 204

3. wrdoeer o°ers)a
4. Sod DTEIey

Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 34212315359 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

$3Potos’ KO §§ Ss HBE ZIDH 0O
1. 353 arySo

3, ‘fﬁ&féﬁé 533@10@@
3. ﬁo@és‘é ‘.fjo)ﬁjﬂoéﬁo
4. 5058 ?.'Ja]@l{:}i'ﬁ{}

Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 34212315359 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



$°80toS” M 6 &3 DBE EIH 00
1. 8585 rySo
2. %8 S)a= oo
3. $08,8% $)a oo

4. 5058 5);]@10{90

Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 34212315360 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

B 8BS 8 LI BFS' 3 HoIS
W otlesood

1. 35,3057 J80
2. 30 IJE D80
3. @éjiaqﬁ 3850

4. DT JHd Do

Options:
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 34212315360 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



B GTESS 8 LI BSS' s DTS
Yol od

1. e38,03°0 8o
2. 0TI 3860
3. @éjiaqﬁ 3850

4. 2T BID Do

Options:
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 34212315361 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

DD o ey B8 DI 8D rTredd 8 S(HSD
IO POR BINE

1. @ébé
2. PSS
3. 0
4. SN

Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 34212315361 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



IND o Tey Ba FDD 8D o 38 S(I
DOLOR BINE

'_L

! @ébé
2. PSS
3. 89S

4. SoHS
M

Options:
1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 34212315362 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘DB TIARBY @d YT 88,095 8
1. 388
2.agﬁxh

3. SO

w

4. 23006

Options :
1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 34212315362 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



DB, TIYRBY” @ IYIGE §0,005 8
1. >3

. megmdia

3. SPPT°

4. 23035

Options:
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 34212315363 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘908 Fro DS HBotTE, $od Koo T°HEILTE, H08
0Bo8EFE’ @ Bof O 8ISS T

1. es 6533"&3

P

LD J"’é&b

L

: E:Siz)a Adso
4, %méa_pm

Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 34212315363 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



‘908 Jro NS DBI0LTE, S0 Koo T REIETE), 508
o8’ @d Bof O $288° 3:5“3}5'3(:@3

1. 3 Baren
2. 83 378,
3. e85 Ao
4. &[05°83 0

Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 34212315364 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘I8 BB S BSonds
1. DB 3BT

2. s moﬁoﬁgeg

3. ﬁ(%@ FARIS )

4. 5°O0D Q03

Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 34212315364 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



‘e BB’ K@ 550068
1. DE:B> $e3EB8T D)

2. SPaso 230?%0‘535

3. ﬁ(%@ 2T 0

4. P00 Q08

Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 34212315365 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"Joel8fo’ Ie0¥ BSowds
1. NOMY, Ei:-éémﬁvcéam

2. §HBID T"HHI(D 3¢50
3. §HEYH Weryory)

4. QoS ol T

Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 34212315365 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



‘;’15"25550’ J°e0¥ B500068

..u.l.

. ﬁ&b_)% :ﬁééa"ﬁvcéam

Ma

8,98 O° B0l IS0

o

VY  eroy)
4. DOoS ol T G

Options:
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 34212315366 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘258’ 333 Aore BSond

1L TEIY D¢ 3 B0 0soes

4. 508 DPRoasSTeered

Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 34212315366 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



‘D288’ 3353 Aore BSond

1. ‘é"eﬁﬂﬁ@ me‘é?g %mm‘:}o‘“cﬁam

Lol

Lo I 4 2]

2. TN Todror)
3 fm&&cﬁ&g

4, 508 PHodSeeren

Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 34212315367 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

@m‘dﬁa% ‘é@"&éﬁ 55 feli 0,06°Q) Kjéébﬁoﬂs’o P led
1. dolA? @é&?oeﬁo
2. SoNTP® WNT°WY)

3. X0 Ko Bo

4. £3800%) S 0FBOY)

Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 34212315367 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Lﬂ?s

TR Hompd DB 508, BeEd) D800 T8

[y
»

Dol E)éé‘:.‘-‘:‘“o@f@o
2. $oATP® TNT°Y)
3. dB08D KorrsBo

4. 3800F) STNHBTY)

Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 34212315368 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

G° S50 P50 0t G, ToddE) gor 20080
1. 3

2. 50080 0B

3. 28 8%

4, G5

Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 34212315368 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Gdg0 DY Bt G, ToddEy o7 DB
1. ™A

2. 80080 oBY

3. 89) 8%

4, G5

Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 34212315369 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

DSETB B S &) B)TLY Jo° E3°@° 0T B
1. £58 3)dgo

2. NBH08ge $)&g0

3. 38 J)Bg0

4. F08O ORI

Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 34212315369 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



DEFB B S GR)) H)EYR) 3T EG HOIB
1. 838 5)8s0

2. FES0Sge 30

3. 378 J)Bg0

4. D98O ORI

Options :
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 34212315370 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

28, 8@ 08’ BBy Ew°5*8re0 &otT B

1. ac%ti}
2. 0N
3. BoriyBo
4. QOB
Options :

1.1

2.2

3.3

4.4

Question Number : 70 Question Id : 34212315370 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



28, 8@ 08’ BBy Ew°5*8re0 &otT B

1. ac%ti}
2. DN
3. BoryBo
4. QOB
Options :

1.1

2.2

3.3

4.4

Question Number : 71 Question Id : 34212315371 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

DREY — wotd  BLY) T, SAYRLED TgFYIo -
@26;);‘63

1. $0 S0, 558

2. 19060578 FA0E, Y

3. 83359 TRITTR TP
4. Sodnrae FedFsoD

Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 34212315371 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



RE) — wotd  BBY) T, SAPRLED TgPYIo -
eﬂ;ﬁgmm

1. $d0 S0, 558

2. 9060578 308, Y

3. 93358 THIFFTD TP
4. SOINIrG Se3%BO)

Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 34212315372 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ErerIrdd Jo°S st8es0
1. 85 Ho¥do
2. ®0WH I TT00dN

3. 8% S;om:i} ©900S e g ®) 5B 0N DS5e00

4. B03B005 80

Options:
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 34212315372 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ErerIrdd {od st8es0

1. 830 D880

M

. PG JITTT 002N

3. 6% éémn:} 9o var ey ®) I owss FSeoo

4. 533800500

Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 34212315373 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘o 3Bua0n” - 30 oeTH)ES

1. 230°e 3

4, éﬁcﬁga’)@ﬁm OXbor!

Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 34212315373 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



4. @‘cﬁgé@*m OXFor!

Options :
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 34212315374 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

JNE WD 28 TS, oFETR) 38y Th, , 98 oSS’
N0 B0

1. 34
: (5521)65

MJ

= E"{)eﬁgoés
4. ﬁm@béoﬁa

Options :
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 34212315374 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



JNE DD 28 FE, OFETR) 30y Tn, , 98 oSS’

= E"K)eﬁzgoéa
4, ﬁm@béoe‘f

Options:
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 34212315375 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

355 00 T3 Jotood ‘050Sen’ — 9083
1. 20

2. 2Ce)

Lo

3. S
4. 3830

Options :
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 34212315375 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



38500 T°3 Dot ‘aloden’ — evotd
1. 20

2. D)

o~y

3. RS
4. H353%

Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 34212315376 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3, BN DAY FEFSTo DBE BDoDS ¥

H

L €)3 oo 8D

2. oT*B aﬁuga

3. OB, B§HBoew
4. ﬁeﬁﬁ SLEANS

Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 34212315376 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



3, TBIY JATR) FBESTo IBE EDoDD §

H

L €)3 oo 8D

2. o*d ﬁf’%

3. OB, BESBoew
4. ﬁeﬁgj’gﬂ SN

Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 34212315377 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

JCO°A30E Do B TN Nodo

1. 5@° 0@ "o

P

: mﬂ)?’méb@ 20230
3. & D8%0
4. )T B) &

Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 34212315377 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



J°0°A30E? Do ot TN Kodo
1. 5@ J3063°y"Nbo

3. mgfmeéb@ 200230

3. P& DA3%o

4. )85

Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 34212315378 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SN, TEI0 Teo¥oS TeNy J¥e3oDS  &dydo
1. 508 B D0

2. 8& S S0

3. $ampes Sydo

4. TI0E HITFSByS0

Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 34212315378 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



SN, TEI0 TS TEEYEY JBEIoDS  &dydo

H

. 5008 B S0

P

. 58 SySo

el

. $opefdySo
4. TI0E HTFSByS0

Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 34212315379 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

DA Ebc% ABIK EOAS Trew
1. 808) D) DG D¢

2. DB DR HB Do

3. RWOVOT® I BIE

4. DG ;’36&

Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 34212315379 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



QA ?ac% QB EOAS Trew
1. 508), D) DG D¢

2. DB DR HB Do

3. RWOVOT® I BIE

4. DG ;’36&

Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 34212315380 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3, JBIS JoRTTIND SF GIIS,, @By $00DD
MIAL IO A S

1. OS0T°R ool
2. &8
3. 38yold
4. 0 W

Options:
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 34212315380 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



3, SBIS JoHTTRIND SI 5IIS,, @By 500D
MIAL IO A S

1. OS0T°R ool
2. &8
3. 38yold
4. 0 W

Options :
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 34212315381 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ororR 3008 I SPLIE
1. P0G e

2. NoG™i3m03)Ged

3. Jroc0Sy

4, TPO°0NER 2_5&..1%

Options:
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 34212315381 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ororR 3008 I SPLIE
1. P0G e

2. NoG™i3m0)Ged

3. oGO8y

4, JPO°0NEN z_ﬁém%

Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 34212315382 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3¢ Tero S°00 J°83 FUrdgeS GOPIr00S Hosd
1. DB

p b Te)

3. &%)

4. HBS

Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 34212315382 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



3G T2ro S°00 J°83 FUrdLeS GOIT00N Hosd
1. IOV

p b Te)

3. &%)

4. HBS

Options :
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 34212315383 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

DHOHITD IS  Ho IBGIHo HEHor SIE 58,
58,393,068

1. ©93508 S
2. JP00Q8
3. 38,8 dore ¢S 2200 D0O&
4. 38 Joro Do 207 D088

Options :
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 34212315383 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



DHOITO I FoO BgSHo HESor B Bk Do
$58,%3,00

1. @S5y088
2. P00 8
3. 85,00 dore $o6y 28R HoOE
4. 38 Jo7o J0gS 230A D088

Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 34212315384 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

B8, 0, 30,50008  grdom IBeTos 28D Yoy

JBor™ GoG  DICHBW
1. $BYEEAS HJ°Do
2. 80086 JHA°J0

3. SBNBVIA JJ5°D0

4, ci’JSm PPNULTS

Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 34212315384 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



B8, &, 9, 50008  Grdor IBeToS WSy S
DB @0l DJTPHAN

1. 85YE°0C0 S350
Z; 6550655 0 23I® 00

3. SBNBIA JJ°do
4. qgm ) 2dJ° 00
Options :

1.1

2.2

3.3
4.4

Question Number : 85 Question Id : 34212315385 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

J0TJBEoS™ 535G ‘©’F6 HGEAS DHOTT0 $Y)DD
D50

1. o785, o5°ed
2. 083, 9)85
3. 985, o)8d
4. oS, oved

Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 34212315385 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



J0)BoS™D  $FIG ‘©’F6 GBS DH)T0 $)dD
D508

1. o785, a3°ed
. 085, 9)85
3. 985, o)ed
4. oS, oveS

MJ

Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 34212315386 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fb% HArrdd ot
1. oCerares
=
2. Teerande
3. ooeyy,

4. 3835 Dby

Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 34212315386 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fb% DArrRd Gorrbes
1. oCerare
=
2. Terande
3. ooeyy,

4. 3835 Dby

Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 34212315387 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BE TR BrhS K BE Ledd B
L. Qoard a°8fo

2. J0gTAEd 780

3. B mézgo

4. 305, D0 FEo

Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 34212315387 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



BE” TR S Sa BIE Deddr
1. Joaedd J‘%‘D

2. D0 AR méego

3. 0B 780

4. T, I,I0Y T°Eo

Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 34212315388 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3,3, 0°08 ‘Jodoh &0’ 855 A8 @205

1. Evolution of Indian Economy

2. French Man’s Greek
3. The Cherry Orchard
4. Secret Agent

Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 34212315388 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



8,8, 0" ‘Bodol &0’ 835 38 @RHBe

1. Evolution of Indian Economy

2. French Man’s Greek

3. The Cherry Orchard
4. Secret Agent

Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 34212315389 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

B0k 3BT BoloS ‘IALE’ @d esory, HoeS
ORT SOt  ‘DoFSEIE’ @D DT JIEILYD HY
1. @33, 70588 30°9)

2. S0 aﬂﬁé‘séﬁ“@

3. $E B)JIB, ¢,

4. T o5 0FYET°)

Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 34212315389 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



B0 JIF Boliod® ‘IELE” @d esolf Io°Y
OROT B ‘Do BEE” @d D) HIEID XY
1. @38, TPBI8 (e 5007

2. PR TBD FAEETD)

3. §E H)JIB, e,

4. SoTer o8 0FYeT )

Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 34212315390 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘B 308 B0’ BIS’E @IODS D
1. oS0 $6038

2. JP0C0

3. PR S0,

4. AN 0FYer 8

Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 34212315390 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



‘B8 IJB EHe’ 308’8 ©3500DD ¥
1. oSO $066I8

2. JP0E

3. PR 5088,

4. IV 0FYer 8

Options :
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 34212315391 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

300 g T8, Hoarody HBo% HBos degod
A. Sl ¥f0

B. @0ty grrad® 504,

C. &30g, 27l I5°II0

D. es0g, 2l 988,350

1. D,C.B.A
2.ABDC
3.B,A,C.D
4. D,A,B,C

Options:
1.1
2.2
3.3
4.4



Question Number : 91 Question Id : 34212315391 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

00 g R, HoaroRd VoD Lood deyod
A. Sl T¥fo

B. ety grral® 506,

C. e30g, gl I5°I30

D. es0g, gral” 588,30

1. D,C.BA
2. A,B,D,C
3.B,A,C.D
4. D,A,B,C

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 34212315392 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



1981 257y 88 0 J5°80 TyIE A8 ;’35;’3:5“605 J°0
dogy 35 Sren §,3008°

A. Do
o)
o

X300

O 0w

1.C,BD,A
2. A.CB,D
3. AD.C,B
4. B,C,A,D

Options :

1.1

2.2

3.3
4.4

Question Number : 92 Question Id : 34212315392 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

1981 &5y 8% 0 580 TG Al é@géfmﬁoﬁ a°8
ﬁogpeg es8° 5 gfmoé&

A. D%
o)
o

00

O QW

1.CBDA
2. A,C,BD
3.AD,C,B
4.B,C,A.D

Options :
1.1



2.2
3.3
4.4

Question Number : 93 Question Id : 34212315393 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A. 0oPAD JSTeen

B. 3, 2083808 HSToe0

C. ey o°Sm08es 88 Je
D. JrBoidrey Soren

1. ADB,C
2. ACDB
3. ABC,D
4. ABD,C

Options:

1.1

2.2

3.3

4.4

Question Number : 93 Question Id : 34212315393 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A. 0oTPAD HdTren

B. 8, 2083808 SSToe0

C. esgyes) o°S85°088s 88 e
D. JrBoiadrey Jdoren

1. ADB.C
2. ACDB
3. AB.CD
4. ABD.C



Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 34212315394 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

oSorar, $88,0 §,5%

A. 355 88350 (2.8 TE0°))
B. & @2005® o55°d, ( 9.808)093)
C. o 88 o558, ((Ed o°dover )

D. 350 o558, ( avoody I35 35 FT,)

1. ALDEB
2. BACD
3. CD,BA
a. DB.AC
Options :

1.1

2.2

3.3

4.4

Question Number : 94 Question Id : 34212315394 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ABSE, 3080 8,500

A. 375 880 ( 2.D.2TTBOY)
B. & @005 oS5, ( 2.808e93%)
C. 3 88 oS5, (96 wdoe )

D. 330 55, ( 2we0do I35 3BT, )

1. A,CD,B
2. BALCD
3. C,D,BA
2. DBAX
Options :

1.1

2.2

3.3

4.4

Question Number : 95 Question Id : 34212315395 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

808 BNJ0 JBI 5,00 HNodoloc

A, B0 ;IDS EBen

B. 2558 Jirdgos 5,

C. @& Hhoreso Hdo 88

D. @iy 578 2338 Svrdreadren

1. BA,C,D

2 ADCB
3 DB,C,A
4 CBAD

Options :
1.1
2.2
3.3



4.4

Question Number : 95 Question Id : 34212315395 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

808 BNJ0 DHBIJ §,%00 K8 oo

A, S0/ 53D EdHen

B. er$368 irdged” &

C. @& Horeso Heoo 88

D. 8enio 570 &*d38 SF-Brradren

1. B,A,C,D

2 ADCB
3 DB,C,A
4 CBAD

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 34212315396 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

DG e Do WONS JOFSIo DB 00 K38050c

A. Boorre  2°H05IPe0
B0/  © DEOD

o)
2D @“i}*aﬁgo AR AN T

ey &%) J)dfo 8 D080

o 0w

A.B.C.D
D,C.,A,B
C,B,A.D
B,C,A.D

BN =



Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 34212315396 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

DS e Do WONS HBFSIe DB §,S00 K38 000

A. @oorres 228035
S0 o DEOD

=)
DG Farddgo 2R S0

C ey &%) )85 ¥ 36809

o 0w

. AB,.C.D
2. D,C,AB
3 CBAD
4, BCAD

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 34212315397 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



OO0 MED DoBBoS” P Hosres §oo

A. o°AB

B. Doqﬁg

C. @050
D. rdcedioe

L. BADC
2. C,BAD
3. A,C,BD
4.D,B,C.A

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 34212315397 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SO PO J0dBeS® DPWD  H,035er §S00

A. o°0Ad

B. Do@ﬁg

C. @050
D. JrSreodide

L. BADC
2.C,BAD
3. A,C,BD
4. D,B,C.A

Options :
1.1
2.2
3.3



4.4

Question Number : 98 Question Id : 34212315398 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

@00S°T°0 Jogpy & Qo IS O §Ho

A. 83526
B. 205856
C. @058
D. 308y H&Boe

1. ACDB
2. A,B,D,C
3. A,D,B,C
4. C,A,B,D

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 34212315398 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

@005 T 0 Joggdd ZE' Ao IS ;O oo

A. 835806

B. 2058560

C. grdodme

D. e3)osy b8 B
1. A,C,D,B

2. A.B,D,C

3. A.D,B,C

4. C,A,B,D



Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 34212315399 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

98 80 BV :J“cﬁji‘ig Hodro §,300

5 Sod, DSBS

200 D0 BB

5050 555 38, BiST IHEHHN
DY SoBF ISOBYHIN

CSawp

1. A,C,D,B
2. ABCD
3. AB,D,C
4. A,D,C,B

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 34212315399 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



90 580 eV 3:&35{3 Bogro §,300

S Sod, DHBSHN
2050 DO 5B

508 $3) 308, BT INBYHHN
DY SoBs ISHBYSIN

Sowp

1. A,C,DB
2.ABCD
3. A,B,.D,C
4. AD,C,B

Options:
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 34212315400 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

RoFol Tero S50 §35°0) 180S0

028 DD BT A
HTINE Kosod I
VT TV BBH
2TINE 68 Losod

QW s

L. DCBA
5 BACD
L. DBCA
4. AD,C,B

Options :
1.1
2.2
3.3



4.4

Question Number : 100 Question Id : 34212315400 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

RoFol Tero B0 §35°7) 1198080

A. o8 5558 %8 & dar
HTIS Sosfod
WnTr Tovye 9SS
IS 68 KLosod

QW

L.DCBA
5 BACD
3.DB,CA
4. ADCB

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 34212315401 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

08D Jad I,00 ¥,500

A 8 Dol FHIN
B. edam 08 5050
C. 850508 550
D. &% 385m

1. A,.D.B.C

2. ACETD
3.B.C,D,A

4. A,C,D,B



Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 34212315401 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e 08D Ja)d JI,00 ¥,500

JS. Dotsd BB
90T VS J0R0
850G J7HH0
Jo5 DBHD

= ey

LADBE
2. A,C,BD
3.B,C,D,A
4. A,C,D,B

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 34212315402 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



QRONING Tr& Ho% IO §,500

A. BB Ho%o
B. es5Je3 So%o
C. Johid So¥o
D. %35 So%o

1. A,C,B,D
2. D,A,B,C
3. B,C,D,A
4. C,D,A,B

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 34212315402 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

QRONING Tr& JoF B §,500

A. B85 HoBo
B. es5e3 So¥o
C. S0 Do%o
D. 3805 Jo%o

1. A,C,B,.D
2.D,A,B,C
3.B,C,D,A
4. C,D,A,B

Options :
1.1
2.2
3.3



4.4

Question Number : 103 Question Id : 34212315403 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

QS JoFBE0 3503 §r0 KB oSl

°G, Do¥IFB TP
P J0eNT° )
SNLTB &)L O
2.D3.3F8

Cawp

1. D,A,B,C
2. B,C,D,A
3.C,B,A,D
4. AB,C.D
Options :

1.1

2.2

3.3
4.4

Question Number : 103 Question Id : 34212315403 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BT JoFSE0 550D §r0 KB oS0l

A. 578, Do8L3%E oo
B. o0 ooy

C. 30emd 8)ar o
D. 2.83.5>8

1.DABE
2.B,C,D,A
3.C,B,A,D
4. AB,C,D



Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 34212315404 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

D005 0G0 HBoD §,H00

A. 3% — o %o

B. 8 %)3 ~j0s $8,0
C. S f}‘ééo

D. 285 HIJ¥o

1.ABCD
2.ACBD
3.B,D,C.A
4. C,B,D,A

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 34212315404 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



(03 $BG,0 HBOS §)oo

A. D% — & d%o

B. 3, S} i}ﬁcﬁd 30,0
C. d& @'{;X)o

D. 2805 HI¥o

1. ABCD
2. A,C,BD
S BHCA
4.CB,D.A

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 34212315405 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

808 5PEd JIED SBoD §0 190,05508

A. B0y HYE
B. Rofoc 583
C. Jdohd 583
D. OIgIed BT

1. AB,CD
2. A,C,BD
3.B,C,AD
4.D,A,CB

Options :
1.1
2.2
3.3



4.4

Question Number : 105 Question Id : 34212315405 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

808 ST LIRS HBID oo K800

A. S0l J83
B. Rofol 38%
C. dond 38
D. a3gared 383

1. A,B,C,D
2. A,CBD
3. B,C,A,D
4.D,A,C,B
Options :
1.1
2.2

3.3
4.4

Question Number : 106 Question Id : 34212315406 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

DPEAT 50D BKS'E SND a7 Jored

A. 35H0
B. w0
C. &FIyow
D. 28

LB
2. AB
3.AC
3.ED



Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 34212315406 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

PERAB 20D BerHS'E SMI s Seren

A. 350
B. eoyor
C. &Faow
D. 3%

. B
2.AB
3.AC
4. C,D

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 34212315407 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



SR BBeTH0 P JVFEH IVI A T,

J&l‘;ﬂl}

A. 356
B. 283%0c @dds%6
A [AV)e] i‘hez
D. apf 208

L. AL
2.B.D
3.B,C
4.AD

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 34212315407 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

B¢ BdETH0 P BOF I 31D A T,

J&};\ﬂ}

A. 266
B. 285°0& @33576
A (AN ] 3&5@
D. apf 08

L. AL
2.B,D
3.B,C
4.AD

Options :
1.1
2.2
3.3



4.4

Question Number : 108 Question Id : 34212315408 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Hog JerBE  Prled D

A. 39
B. ore3%
C. A%
D. e8)a
1. A,B
2.BC
3.BD

4. A,C
Options:
1.1

2.2

3.3

4.4

Question Number : 108 Question Id : 34212315408 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

mo@awé&é PR 9
A. 3%
B. o835
C. 4%



Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 34212315409 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tordd P acsne ASod Jroaren
ol

BRSE Hr6

Brend

20w e

esBeorerd

1. A,B
20D
3..B.C
4. A,D

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 34212315409 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Tordd gracsved ISod Jesred

DroT°
2RSS Hr8
o@yu&ef

O awp

esBererS

1. A,B
2.CD
3.B.C
4.AD

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 34212315410 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TEITEHO HHOSTY), Fomod) $800F SH

A. DodoJre S9N
B. H)B3 0708588
C. Jo%oTo S)0orEd
D. 308) 58

l. B,C
2. AD
3 ED
4. BD

Options :
1.1
2.2
3.3



4.4

Question Number : 110 Question Id : 34212315410 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TSP HNOSTD), Fomord) $800F EHew

A. DodoJre S0
B. HBd 008588
C. Jo%oTo S)norEd
D. 3008y 3%

l. B.C
2. AD
3 ALE
4. BD

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 34212315411 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BT B BotisTen oS SO

A. %o DG AN
B. r820705%
C. §&orHodw
D. Joa°ed 8 38,



Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 34212315411 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

%mqﬁocﬁa Holiste TN SEHON

A. B)orrd RS I
B. &8derd50
C. §9orSodw
D. Joared 8 58,

1. AC
2.AB
3.B,C
4. B,D

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 34212315412 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



‘@ dore i)?éﬂgo’ S

A. DB giagm
S0 Aed Aded
an@m

O QW

@ﬁ;éo

1. AB
2 AC
3.B,C
4.C.D

Options:
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 34212315412 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘B 0O ﬁéﬁgo’ SR

A. QBB éé&m
B. s*®0 A0S Aden
C.ﬁ&%%

. @ﬁ;éo

1. AB
3 AC
Nl
4.C,D

Options :
1.1
2.2
3.3



4.4

Question Number : 113 Question Id : 34212315413 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘Brl D DI 80’ @D IEDoDD  SSow

A. dod &80

B. et

C. 2BHo dEen
D. Jod8 S)80

1. AB
2. 5D
3.BC
4.C,D

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 34212315413 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘BB FSH I5NEE 5780’ @D HrDoDS  IHowd

A. doed Srdo

B. aros sy

C. 2BHo dsen
D. Joar8 B'Jo)‘ép

1. A.B

2. A,D

3.B,C

4.CD



Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 34212315414 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IST8 S D) Tk oo FEoDS JSBrIe

A. Dooe
B. &3o08en
C. &8 dg e
D. & 206

L.AB
2. BC
3.AC
4. C,D

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 34212315414 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



IS8 S D) Tk IR DS ISErI e

>

Aoty
&Joden
2°Cs D8
T 206

O nNw

l.AB
2:BC
3.AC
4. C,.D

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 34212315415 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T 000" IO T o IIT, )& HSE)S 3D
oy 8@ ASTEen

A. Dog Dy &
B. EﬂoS’“@E&)& ¥a)
C. &0 8&

D. b0 &6 $6

1. AB
5 B
3,AC
4.CD

Options :
1.1
2.2



3.3
4.4

Question Number : 115 Question Id : 34212315415 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TP 090208 IO T o IIT, B)dg HSE)D 3
Bocs> $@ AdSToeY

A. Dog D &
B. o5 P R &
C. £d 8&
D. Sty0 &8 $&

1. AB
9 Be
3. AC
4.C.D

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 34212315416 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A. D.e335080°%00

B. 30 23,58
C. §&>0 8,0°50500°0
D. e58.0508.80858)%0
1. B,C

2.B,D

3.AD

4. A.B
Options :

1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 34212315416 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TS 08 (Arche — Type) 2 388 H)a 33558

A. 2.e350850°00

B. 30 2338
C. ¥&r0 3,0°30505°8,
D. €58.055%0.5088)%0
L. BC

2.B.D

3.AD

4. AB

Options:

1.1

2.2

3.3
4.4

Question Number : 117 Question Id : 34212315417 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0
3oty QG (8 eraren

A. @8,%)
B. &°330
C. g8
D. 8550550

e
2. AB
3.AD
4.BD

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 34212315417 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3ot 8, (8 eI

A. 08
B. &30
C. g¢3»
D. 83570830

L AC
2. AB
3.AD
4.B.D

Options :
1.1
2.2



3.3
4.4

Question Number : 118 Question Id : 34212315418 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

08 ToBocd 335"&50} 5P D05 d%0en

A. ST B

B. 578 98,350 855¢6
C. dSe0d

D. &emyacs

1. A€
2.AB
3.BD
4 CD

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 34212315418 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



0 TG BN sIor dsdBen

A. DTN B

B. #5780 28,350 855¢6
C. IS

D. &emyfocdy

1. A,C
2. A.B
3.B,D
4. C.D

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 34212315419 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OS5°80),¢80 338"2150} QBIE 5B
A. oror écéoe%
o,

B. ®#2%®
C. s3ce
D. #55red

1. A,C
2. AD
3. BC
4. C,D

Options :
1.1
2.2
3.3



4.4

Question Number : 119 Question Id : 34212315419 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OS5°30),¢80 336‘21260} BIE s°Boed
A. Je°o° 506&93
ol

B. ®2%®
C. 3
D. e85reh

1. A,C
2.AD
3. BC
4. C,.D

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 34212315420 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

R, BT RSB0 Fho HBoHAoS FHEEE ID JHI8

A. 39080 H8348 3
B. $¢0%8, S00885%
C. Soffo 082S
D. 50588 3080°3

1. AD
9 ¢D
3. AB
4.B,C



Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 34212315420 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

B, BTERBA0 Tdo HPoHA0S FIEEE I JHITE

A. 3800 38308 3D
B. $5¢0%8), 3005553
C. Soffo 0&2rasa50y
D. 305A8 3080°3

1. AD
9D
3. AB
4.B,C

Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 34212315421 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



gl §¥ame oo P03 ArE, FEI JT° DO

A. @ 050
B. %J{%%@

L es8) ATal
D). §§)E}"'5’3”’%

1. B.D
2. AB
3.B,C
4. AD

Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 34212315421 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gl F¥ame oo PGl Y, FPEI JT° DOTL

A. @fgucﬁjo
B. %¢530

C. es8) F¢
D. §5075%

1. B,D
2. AB
3.B,C
4.AD

Options :
1.1
2.2
3.3



4.4

Question Number : 122 Question Id : 34212315422 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

9235 0300

A. %08 5365 A Do 0 IHFD

B. 550508 $88, 2% 88, mss

C. gooed T8 H0HE B0 §Hd ¥R a~dBo
D. 201585 SoB)eoosd H8 el D) THINTE

1. AC
2. AB
3.AD
4. B,D
Options :
1.1
2.2

3.3
4.4

Question Number : 122 Question Id : 34212315422 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

92385 ado8oen

A. %08 065 A% Poded KD

B. 550508 888, 2% 8, ¥

C. G883 ooz 5038 HoBoand THod )R a~dBo
D. 20fis S0t 8 TeR  FF) FINT )G

I A€
2. AB
3.AD
4.BD



Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 34212315423 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

$35°508° )@ 8 & B0 IMS  Brren

A. 29,0558 Sooew

B. 2 Seoddnen
C.oo =20

D. D580 o)

1. B,C
2. AC
3. AB
4.BD

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 34212315423 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



HR°508" ByE A B0 IND  Boren

A. 9 058 Dovew

B. 29 Seoddnen

C. o 26

D. DioB0 NonD)

1. B,C
3 AL
3.AB
4.BD

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 34212315424 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

DT e nmﬁéa;ﬁa és@:}%o{) bméﬁﬁaiﬁa:&& ;’:@Jém

A. B52D¥

B. mbwéagécﬁo
C. %8

D. oo

1. B,C
2. CD
3.AB
4. A,D

Options :
1.1
2.2
3.3



4.4

Question Number : 124 Question Id : 34212315424 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

DT m&meg@;éo 6%%{3 :‘Jmécﬁae:éa;scl é@}ém

A. B5°0%

B. mbwéagédﬂo
C. %8

D. oo

1. B,C
2. CD
3.AB
4. A,D

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 34212315425 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

B0l ZJJJE,}JEQ @IS 50 Kb ook

A. 0085780
B. dgamySoa78o
C. 3598 &0

D. csarardo



Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 34212315425 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

B0l :3&33;‘}5 0TS 50 Ko oot

A. 0083780
B. dgoeydoardo
C. 388 a0

D. ohaHado

1. A,B
2.B.D
3.B,C
4.C,D

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 34212315426 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



BY 5o

List | List II
Al odaed ‘@o?m 1 |o,®
B.|&0) 5o i, |2 &, £, %
C.[ e i, | 3, 6, &, G5
D.[78 55 Tewes |, |5, 5.3,
l. A-, B-m, C-v, D-
2.  A-u, B-v, C-1, D-n
3. A-n, B, C-v, D-mn
4, A-, B-n, C-1v, D-m1
Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 34212315426 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

288 DOV

List | List 11

9IRS é{jo?m i o9

3“&%5519.13 TG O
@Jﬁfﬁi“@m 1L | a», B, &, &,8
6 DD e iv. | 35, v5,23,80

CIREIE

A-1, B-mi, C-1v, D-u1
A-u1, B-1v, C-1, D-u
A-1, B-1, C-1v, D-m1
A-1, B-n, C-1v, D-m1

B B e



Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 34212315427 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

28 6300
List I List II
A.| 36 Soteo i [a88,
B. | 588 Svocieoo i |28 85,
C.| &35 Dokoo i | A
D.| 506§ Svoteo iv. | D3

.  A-u, B-m, C-1v, D1
2. A-, B-u, C-1v, D-m
3. A-, B-m, C-u1, D-1v
4. A-wv, B-m, C-, D-
Options :

1.1
2.2

3.3
4.4

Question Number : 127 Question Id : 34212315427 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



28 D808

List I List II
A.[ 38 Sreeo S
B. | &8 okeo i [ 9ed 85,
C.| &80 dokeo i | &R
D. | %06 Svoteo iv. | 2e3Se

.  A-n, B-m, C-1v, D1
2. A-, B-n, C-v, D-m
3.  A-1, B-m, C-u, D-v
4. A-v, B-m, C-1, D-n
Options:

1.1
2.2

3.3
4.4

Question Number : 128 Question Id : 34212315428 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

238 JHoe
List [ List I
A | 3Bodro 3¢ L &Jémg 5840
B. | 30088820 88 T RSIARe (e
C. | ey, Srgrgdn iii. | 58 Pocio
D. [ DodSg K85 ok iv. [&85 &0 So¥o
. A-1, B-v, C-m, D-11
2. A-m, B-v, C-11, D1
3.  A-u, B-v, C-1, D-111
4.,  A-1, B-1, C-1v, D-11



Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 34212315428 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

23¢9 DB
List I List 11
A.| 3%odro 3¢ L @62@5 5850
B. | 30085830 88 i |2 $Bgo
C. | e, grargdn iii. | 58 Pocio
D. [ D085 K85 ok iv. [&85 50 So%o

. A-, B-v, C-m, D-u
2. A-m, B-1v, C-u1, D=1
3. A-u, B-v, C-1, D-m
4. A-1, B-n, C-1v, D-m1

Options :

1.1

2.2

3.3
4.4

Question Number : 129 Question Id : 34212315429 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



238 JG508d

List | List 11

A.| 708 B d0d e L | oAJrE Noded r’atﬁ&
BSI0D DS80S J
&R

B. [ 208 ?Qﬁ PIINIE |11 |8, Kjégmmoﬁom
AVLLIN L )

C. | I20)d) B55! i, | o0 mma%
QBINATY 3B D37

D. [ o 3% &9 ! ooedd |1, | sPeed 2‘:035&‘.3"5550’@
SWNDIFARINWIIN 5@

1. A-1, B-m, C-v, D-u
2. A-m, B-n, C-1, D-1v
3. A-v, B-i, C-m1, D-1
4.  A-u, B-v, C- m, D-1

Options:

1.1

2.2

3.3
4.4

Question Number : 129 Question Id : 34212315429 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



238 JG508d

List | List 11

A.| 708 B d0d e L | oAJrE Noded r’atﬁ&
BSI0D DS80S J
&R

B. [ 208 ?Qﬁ PIINIE |11 |8, Kjégmmoﬁom
AVLLIN L )

C. | I20)d) B55! i, | o0 mma%
QBINATY 3B D37

D. [ o 3% &9 ! ooedd |1, | sPeed 2‘:035&‘.3"5550’@
SWNDIFARINWIIN 5@

1. A-1, B-m, C-v, D-u
2. A-m, B-n, C-1, D-1v
3. A-v, B-i, C-m1, D-1
4.  A-u, B-v, C- m, D-1

Options:

1.1

2.2

3.3
4.4

Question Number : 130 Question Id : 34212315430 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



288 /WLy

List List I
A.| 08D Sov85 S0 L[ 5)S0% Do
B. | zoo? ii. |3e°h)
C.|Hodd 20 i, | 3)8
D.|orHe%d a@roro iv. | S0P S ﬁ"ﬂeg@éﬁésoﬁo

. A-1, B-m, C-u, D-1v
2. A-m, B-n, C-1v, D1
3. A-n, B-v, C-m, D1
4. A-v, B-1, C-11, D-m

Options:

1.1

2.2

3.3
4.4

Question Number : 130 Question Id : 34212315430 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

8% JOWoL

List I List II
lsa) 83°0f 53250 L | )E0% Do

20058 i. [3eh)
0" o K0 iii. | 3)8
oo JEroro iv. | S0P S ﬁ"ig@éﬁésoﬁo

S| Q| | &

A-1, B-mi, C-n, D-1v
A-u1, B-n, C-v, D1
A-1, B-tv, C-m1, D1
A-1v, B-1, C-n, D-m

i o e



Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 34212315431 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

238 DB
List [ List II
A | 208 i [ 930
B. | or0%0d30¢ 1. E}é@;}ccoé Zle el
C.| 38083 &0 il |8 700ed8 Fand esdae.
D.| GEseerdEy . | 880
1. A-n, B-1, C-n1, D-1v
2.  A-wv, B-n, C-1, D-m
3. A-1, B-m, C-n, D-v
4.  A-m, B-1v, C-1, D-1
Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 34212315431 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



2288 D80

List | List II

NEEEE i [5%305
B. [ o°080&5°¢) i, | )00 escag
C.| 58083 &30 i, |8 700ed8 Fand escae.
D.| &Ssear 1v. | 880

1. A-n, B-, C-m, D-1v

2.  A-wv, B-1, C-1, D-11

3. A-, B-m, C-n, D-1v

4,  A-m, B-1v, C-11, D-1

Options:

1.1

2.2

3.3

4.4

Question Number : 132 Question Id : 34212315432 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



R8P 50

List [ List II
A.| DB Sy B8 off POV ], 508505089 e9aren
AR
B.| 3885 #3m 3}6"&260) il | &8 S50
orEe380050
C.| 3ol TPASOIBIST IO |11, | 2068 )Beed
D.| &8ss s**;()?g 230530 v. mm&mcﬁa
1. A-1, B-u1, C-1v, D-m
2.  A-u, B-v, C-, D-1n
3. A-n, B-1, C-v, D-m
4, A-, B-1v, C-1, D-11
Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 34212315432 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



R8P 50

List [ List II
A.| DB Sy B8 off POV ], 508505089 e9aren
AR
B.| 3885 #3m 3}6"&260) il | &8 S50
orEe380050
C.| 3ol TPASOIBIST IO |11, | 2068 )Beed
D.| &8ss s**;()?g 230530 v. mm&mcﬁa
1. A-1, B-u1, C-1v, D-m
2.  A-u, B-v, C-, D-1n
3. A-n, B-1, C-v, D-m
4, A-, B-1v, C-1, D-11
Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 34212315433 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



288 JHWaed

List [ List 11
A | rBrEr3SrEe 038 SIS i 3°0°05063 o)
B.| F0erardirtes 008 w0 (il |38, §)RE
C.| Fderardsde areodo i, | 8Jore
D.| 0era e SoR)) v. | Qa8
1. A-, B-m, C-11, D-1v
2.  A-u, B-1, C-1v, D-m1
3. A-m, B-1, C-av, D-n
4.  A-iv, B-u1, C-m, D-1
Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 34212315433 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



288 JHWaed

List [ List 11
A | rBrEr3SrEe 038 SIS i 3°0°05063 o)
B.| F0erardirtes 008 w0 (il |38, §)RE
C.| Fderardsde areodo i, | 8Jore
D.| 0era e SoR)) v. | Qa8
1. A-, B-m, C-11, D-1v
2.  A-u, B-1, C-1v, D-m1
3. A-m, B-1, C-av, D-n
4.  A-iv, B-u1, C-m, D-1
Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 34212315434 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



28 J53080

List | | List I1

A.[BoB% 85 DING |1 [ &@8 #5350
B.| G0 Smﬁ ;’J%mcia i, | ook #HJ0
C.| B0l @;’n&mw i |58 350
D. | dz0Sra 8 iv. [ 29380 50
1. A-, B-v, C-m1, D-nn
2. A-u, B-1, C-1v, D-n1
3. A-m, B-n, C-1v, D-1
4.  A-v, B-m, C-n, D-1

Options :

1.1

2.2

3.3

4.4

Question Number : 134 Question Id : 34212315434 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



28 J53080

List | | List I1

A.[BoB% 85 DING |1 [ &@8 #5350
B.| G0 Smﬁ ;’J%mcia i, | ook #HJ0
C.| B0l @;’n&mw i |58 350
D. | dz0Sra 8 iv. [ 29380 50
1. A-, B-v, C-m1, D-nn
2. A-u, B-1, C-1v, D-n1
3. A-m, B-n, C-1v, D-1
4.  A-v, B-m, C-n, D-1

Options :

1.1

2.2

3.3

4.4

Question Number : 135 Question Id : 34212315435 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



¢ JG90ed

List [ List I
2 0L L |25 @D 30)

a,g;ggs So% orer |4l %’éébocﬁ ;’)6&

Foos00d T (il |38 T, FodBurencsy
AR Brodd o |iv. |dzod 53‘)5}6@

S| | >

. A-, B-m, C-u1, D-1v
2. A-n, B-ui, C-1v, D-1
3. A-u, B-v, C-1, D-m
4. A-m, B-n, C-1v, D-1

Options:

1.1

2.2

3.3
4.4

Question Number : 135 Question Id : 34212315435 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



¢ JG90ed

List [ List I
2 0L L |25 @D 30)

a,g;ggs So% orer |4l %’éébocﬁ ;’)6&

Foos00d T (il |38 T, FodBurencsy
AR Brodd o |iv. |dzod 53‘)5}6@

S| | >

. A-, B-m, C-u1, D-1v
2. A-n, B-ui, C-1v, D-1
3. A-u, B-v, C-1, D-m
4. A-m, B-n, C-1v, D-1

Options:

1.1

2.2

3.3
4.4

Question Number : 136 Question Id : 34212315436 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



238 0o

List | List 11
A.| 83 d¢ e L [3d e, d S0
B.| esdd Soearen i, &5 00, Toddy
C. | e>d0sen jii. | o Fosw, W&
I @geg% BT . [ >, 58,56
1. A-, B-tv, C-m, D-11
2.  A-n, B-m, C-1v, D1
3. A-m, B-v, C-1, D1
4. A-1v, B-m, C-1, D-n
Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 34212315436 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



238 0o

List | List 11
A.| 83 d¢ e L [3d e, d S0
B.| esa0dd Sradre i, &5 00, Toddy
C. | e>d0sen jii. | o Fosw, W&
D. “-’3‘5«“5% BT . [ >, 58,56
1. A-, B-v, C-m, D-n
2.  A-n, B-m, C-1v, D1
3. A-m, B-v, C-1, D1
4. A-1v, B-m, C-1, D-n
Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 34212315437 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

23e5 DBWBoed
List I List II
A @RJQ oS aébd @m&mmm L |estoded
B. | 3050088 S0 HI0I005%0 in. |Solo
C.| 8038 85nH 598 se0 il | Beohd
D.| 2359 D0 ool 030Gy DORIN | iv. Al

A-1, B-ui, C-1v, D-1
A-1, B-iv, C-ii1, D-ii
A-1v, B-11, C-111, D-1
4.  A-i, B-1i, C-v, D-1i

e L

Options :



1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 34212315437 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e DBk
List I List 11
A. @3‘3 Nooen aébci @mémmm L |estoded
B. | 050088 S0 03030050 in. |Solo
C.| 80838 EX0)% 598 5o il | BeoAdH
D.| 259 28 oS o 030Gy DORIN | iv. B0HE

1. A-n, B-ii, C-1v, D-1
2. A-i, B-iv, C-in, D-11
3. A-iv, B-ii, C-iii, D-i
4.  A-m, B-1, C-v, D-n

Options:

1.1

2.2

3.3

4.4

Question Number : 138 Question Id : 34212315438 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



28 05080

List List II

A.| 98,38 i. |One swallow does not
make summer

B. | 30y, ®o8ma Jodrr ii. |As yousow, so will
you reap

C. | S088) 838 308808 | iii. | Half loaf is better than
none

D. 650135;’)3&5& A §b05 5308 V. Inadequate

[.  A-w, B-n, C-1, D-m
2. A-m, B-n, C-1, D-v
3. A-w, B-i, C-11, D-m
4. A-u, B-1, C-v, D-mt

Options :

1.1

2.2

3.3

4.4

Question Number : 138 Question Id : 34212315438 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



28 05080

List List II

A.| 98,38 i. |One swallow does not
make summer

B. | 30y, ®o8ma Jodrr ii. |As yousow, so will
you reap

C. | S088) 838 308808 | iii. | Half loaf is better than
none

D. 650135;’)3&5& A §b05 5308 V. Inadequate

[.  A-w, B-n, C-1, D-m
2. A-m, B-n, C-1, D-v
3. A-w, B-i, C-11, D-m
4. A-u, B-1, C-v, D-mt

Options :

1.1

2.2

3.3

4.4

Question Number : 139 Question Id : 34212315439 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



238 0oL

List I List 11
A. [ F83d5ne Sedo i |1957
B. |30, 350 6@%&5 80 |, [1955
C.[so 385 Se0 iii. 1917
D.[§6, 8598 $edo iv. | 1867

. A-n, B-v, C-1, D-m
2. A-, B-v, C-m, D-u1
3.  A-n, B, C-1v, D-m1
4. A-v, B-n, C-1, D-m

Options :

1.1

2.2

3.3
4.4

Question Number : 139 Question Id : 34212315439 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

23¢8 JBHoey
List I List 11
A.| FYS0swe Bedo i |1957
B.[ 0, oo 6@%&5 $eyo il [1955
C.|so 3e5 Seo iii. 1917
D.[§0, 8598 $edo iv. | 1867

A-1, B-1v, C-1, D-m1
A-1, B-v, C-u1, D-un
A-1, B-1, C-1v, D-m1
A-1v, B-1, C-1, D-mn

= W DI e



Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 34212315440 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

2305 DBBo
List [ List II
A.| Zroddeo Jro 33393 Thhe i [Fesd Rdoeer
B.| €038 08, 555,8 Soponfon |5 | 506 G50
A B E el Erll E R
D.| 8803 &‘}Jééa GORRINY LK . | 00D
. A-i, B-iv, C-ii, D-iii
2. A-v, B-mi, C-1, D-11
3. A-i, B-1v, C-u1, DA
4.  A-, B-un, C-1v, D-11
Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 34212315440 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



2389 B8

List I List II
A.| Zroddre Jro 53393 Te i [Fesd Rdoeew
B.[%0e38 D&, 3353 Dopoardd  [ii. [H0b SIS
C.[9)e3305x0 50 8205)e38a5x8 | i, [ 37°Boc
D.| 8808 208 Goland eI V. | 000D
1. A-i, B-iv, C-ii, D-iii
2. A-tv, B-in, C-i, D-1i
3. A-i, B-tv, C-iii, D-i
4.  A-i, B-ii, C-iv, D-iii
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2
Sub-Section Id : 342123604
Question Shuffling Allowed : No

Question Id : 34212315441 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

&8 S0 ﬁﬂ"gﬁb TAPd) {Jﬁ‘ge}’é\) IO IIrTTON
m@mﬁod&

“o D! onenBoed Fodk B8 Sosdomend Jol B
o BE3G Koty D69 &S Koy ds §,e6D

S50 11e3ADeINRE A 7 ITTHT 85760

By Joegomves 3Oy BeIBB? 80BedS doriEs?

Sub questions



Question Number : 141 Question Id : 34212315442 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ea ﬁéﬁgo %) BB 00 ot 1rodwcod

L. 8, S8y, STt 50
2. 58 DTrHHW
3. 23D HTEIdW
4. 350> SrTFey $
Options :
1.1
2.2

3.3
4.4

Question Number : 142 Question Id : 34212315443 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ss fjiﬁago o 3’“% 3¢ 3D D080

l. B2y HHAD
2. DBIE 0 H0d)
3. WeEnh»d
4. &)
Options :
1.1
2.2

3.3
4.4

Question Number : 143 Question Id : 34212315444 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



‘ %bf:g}

L. aés Do
2. ﬁﬂﬁ“cﬁ 20l

3. &8 Jo@

4, 2R Hod
Options :

1.1

2.2

3.3
4.4

Question Number : 144 Question Id : 34212315445 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

&3 58008 346 HE"D 0098 Ko FSo

1. 2086¢3 S0
2. BotsH o
3. Sogeels artho
4, Ef“e%;‘) TS0

Options :

1.1

2.2

3.3

4.4

Question Number : 145 Question Id : 34212315446 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



& ::,&505“:3 ®©03°80

L. Cﬁg.ﬁzaoe”ﬁo

2.4 ﬁsaﬁﬁsg

: :ﬁéﬂ_}ré‘

4, @D;oéémgﬁo
Options :
1.1
2.2

3.3
4.4

Question Id : 34212315441 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

&2 808 ém‘“ﬂg‘ﬁb S ) @é&@‘é& JBOY  IIrTTON
m@noﬁoé

C B ! owenBotd Tols B8 Tosdoend oliSnd
o BeIG Kogy, D89 &S Koy §6D

AS3°S0 eI ADLINE I 7 ITTHT E5°¢0 I

Sy Joegoaves 3Oy eI BBI? 80B3ed8 dorids?

Sub questions

Question Number : 141 Question Id : 34212315442 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ea 56550 %) BB 00 ot 1rodwcod

L. 8, S8y, STt 50
2. 578 Jorddw

3. 23D HTEIdW

4. 3500> STy gI0



Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 34212315443 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S Digo O G, 38 €D IS0k

l. gy A
2. DBIE 0 Hod)
3. N&EHA>D
4. BB
Options :
1.1
2.2

3.3
4.4

Question Number : 143 Question Id : 34212315444 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘ %bcg: L
L. aéj 208
2. 3‘3@“’{3 {Tela)

3. &8 Jo@

4, RS Hod
Options :

1.1

2.2

3.3
4.4

Question Number : 144 Question Id : 34212315445 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

&3 5808 348 HES 008 Ko JGo

1. 20883 F&Bo
2. 808d JSo
3. Sogdd orddo
4, F%é S0

Options :

1.1

2.2

3.3

4.4

Question Number : 145 Question Id : 34212315446 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

&8 5’3{5505%3 &0o3* Yo

L. iﬁo:].ﬁ:}oeﬁo
2 K)S&F:}%é;ﬂ
3. 6933‘))5\

4. @U%oéémgﬁo

Options :
1.1
2.2
3.3
4.4

Sub-Section Number : 3
Sub-Section Id : 342123605
Question Shuffling Allowed : No

Question Id : 34212315447 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (146 to 150)

Question Label : Comprehension



&3 808 ;’Jca'“egﬁ;l WD DAY Idorgraro 8 oot

KD WS, B 350, SHeo DE2)DES
B, TR SYP(Ben S0P, TY A HOS0E IS,
Y5O T8 B> BIZ0S 39 KBy, IR 0D S
SPJe HB¢ Borp BHSowed Jﬂgdaeéﬁ LTRSS I0S’

Sub questions

Question Number : 146 Question Id : 34212315448 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

&3 éﬂ‘g&h 500w T8
1. me%o 2T o)) oy

¥ ééam%

3. éq)%ﬁ"%
4. O°8LH

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 34212315449 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S :;35505‘ 205°8 0508 Ko JFS30

1. Doy eSS
2. Botd B0
3. 2orEN IS
4. 70N JFEI0
Options :

1.1
2.2



3.3
4.4

Question Number : 148 Question Id : 34212315450 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Se DS I A F0S 0@ BT FPo I T8y,
2,035°N oS ¢ 08

1. 2
2. P
3. e
4. 3o

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 34212315451 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

&s Do o Irdeo  Jogy

1. 120
2. 112
3. 104
4. 124

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 34212315452 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



& &GS FEPd Jo@  wOAD IwolSo
1. 08,8,

2. 83YH 0

3. LTTASS0S

4. L BoY)

Options :
1.1
2.2
3.3
4.4

Question Id : 34212315447 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension

Sz 208 éﬁ‘gﬁg WA JDAJ I IO 198 oot

‘350 woBonS, BB HHTR0, IYPoo DG YIS
B0, T 3H(8e0 oY), T IR 0508 IS,
DPgO TS Y BISNS 3D KBy, G 2D 8
SPed JBG o BBHozen J“éd&@'é&g BTTASS0S’

Sub questions

Question Number : 146 Question Id : 34212315448 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

=t éc:;g&)g 500N T8
1. r‘oe%o 2°a)°

2. $80838,

3 éa)aé‘é"c%

4. O°FOE



Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 34212315449 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S S’JC%OESB 305°8 08 Ko J*BB50

1. 20888 853
2. BotsS S
3. Sopss eSS
4, TS T2 B0
Options :
1.1
2.2

3.3
4.4

Question Number : 148 Question Id : 34212315450 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Se DS I A F0S 0@ BT FPo I FBY,
2,035°N oS ¢ 08

1. 2
2. 0l
3. o
4. 3ot

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 34212315451 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

&3 DES o Irge Doy

1. 120
2. 112
3. 104
4. 124

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 34212315452 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

&3 HgoS” TE Jo@ wOAD Do
1. 01,59,

2. 830

3. ITAS IS

4. LD S0P

Options:
1.1
2.2
3.3
4.4





